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th2 7133} ZHo] AB// CD©]1 aADCE = 30cm?, ADBC = 15cm?
o wj, DACED 9] Ho]+=?
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OACED = ADCE + AACD = ADCE + ADBC

- OACED = 30 + 15 = 45(cm?)
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e TPy 28 gAY ABCD oA AE : DE = 2 : 30|10

AABE = 10em? ¥ ©f], AEBC 9] Ho]&=?
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AABE + ADCE = EDABCD

AABE : ADCE=2:3
ADCE = 15(cm?)

" AEBC = %DABCD = 25(cm?)
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AD & /A 9 o5 B Holm2 AB:AC=BD:DC=6:5
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4. ©h& 13o|A ADBE ¢ AABC 9] Wol9] H]=?

AABC ¢} ADBE oA /B &= Z%, /ACB = (DEB °|B2=2
AABC O ADBE ©|11, &-8H=AB: DB =5 : 3 o]t}
o}2tA] Holo] Hl= ADBE : AABC =32 :52 =925 o[t}
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o8 O3 28 AABCOJA AB = 2, BC = 4, CA = 30|11,
/BAE = /CBF = /ACD ¢ o}, DE : EF &?

(DAC = x, /FCB =y, (EBA =z 2} 5},

(EDF = x + /ACD = x + /BAE = /A

(DFE =y + /CBF = y+ /ACD = /C

(FED =z + /BAE = z + /CBF = /B

. AMBC @ ADEFO|E2 DE:EF =AB:BC=1:2
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th2 13 9] AABC oA /DAB = A
(ACB , /DAE = /CAE ¥ o, x 9
A= F-ohH?
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/B = 8%, /BAD = /BCA .. AABD @ ACBA (AA )
Z2H2 AB : BC = AD : CA°A 12 : 24 = AD : 20
- AD = 10(cm)

AADC oA AE & /CAD 9] o] 5EA0|BZ 10 : 20 = x :
(18 — x)

2o x = 6(cm)
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AABC A4 AB = 20cm, BC = 12cm, CA = 16cm ©| 1, Al ¥ 2]
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@ 8cm @)}12cm ® 16cm @ 20cm ® 24cm

_ 1— — 1— — | pE—
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nphA 2, 1 = ;LA_C, Gl = }lm
ut2tA AGHI S =9 9] dol=
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@)1 A7t 20 & ® 1 A7t40 &
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11. o3 2937} 22 JPAPHY ABCD oA of
7} BD & HE Ao = sto] Hgr}. AB,
DC o] Ao WS Pt & o, /P 9
717

@® 86° @ 88° ® 90°

£C’DB = /CDB = 43°
(ABD = /BDC = 43° (317})
APBD ©f| A

(P =180° — 43° x 2 = 94°
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S I8 22 AAZE ABCD oA /B 9 o]5E A1 AD 7}
e A8 Egt g o, AE : ED=3:1, AABE 9] §o]& 72cm?
o|t}. o] wf, DEBCD 9] ¥ o|=?
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GD)HO(:m2 @ 128cm? ® 132cm?
@ 144cm? ® 160cm?
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AABE:§x3ax3a=ga2=72

sa®>=16

_ 1 15 ,

DEBCD = - x (BC+ ED) x CD = 5(4a+a)><3a= S a

N | =

15
=5 X 16 = 120(cm?)
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th& 39914 ABCD & 32 gele. BC
A3, ED 91ol A A, ColA & 5491 28 27 P, Qe 2 1,
27

=
AF = 10cm, DQ = 8cmo|t}. o] o], AP o] Zo|& gk

@ 6cm @SCm ® 10cm & 12cm ® l4cm

B ~

AAPD €} ADQC oA

/ADP = /DCQ, AD = DC, /APD = /DQC
AAPD = ADQC (RHA®E)

.. DQ=AP =8 (cm)
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15. o2 HPAHY ABCD oA AP = PQ =
QD ©]t}t. AABP = 44 cm? 4uf, AEPQ <
wol=?

O 18cm? @ 19cm? @ 20cm?
@ 21cm? @22 cm?

B

PQ=BC=1:3
AEPQ : OPBCQ =1:8

AEPQ = %DPBCQ = %DABCD

AABP = éDABCD = 44(cm?)

OABCD = 264(cm?)
.. AEPQ = 22(cm?)




